
0 
5 

RENEWAL PARTS 

IC9133 UNIT BOX RESISTORS 
(also CR9133) 

Cat. No. 5758482G l to 5758482G4 l Inclusive 

- ---~ ·--

When ordering renewol parts, give quantity, catalog number, description of eaclli Item required, and complete nameplate reading. 

GENERAL. ELECTRIC 
Doto subject to change without notice. 

GEF-38388 
Supersedes GEF-3838A 

2 

3A 



GEF-3838B IC9133 UNIT BOX RESISTORS 

RESISTOR REF. NO. 1 CR9033 
OHMS 

NO. 
RESISTOR REF. NO. 1 CR9033 .. 

'OHMS NO . 

UNIT BOX RESISTOR UNIT 
PER TAPS 

UNIT BOX RESISTOR UNIT PER TAPS 

CAT.- NO. 4 REQUIRED 
UNIT EACH CAT. NO. 4 REQUIRED 

·UNIT EACH 
CAT. NO. UNIT CAT. NO. UNIT 

5758482Gl *CR9033A4D48EF 48 5 5758482G22 138A2565G6 0.4 1 
5758482G2 *CR9033A4D21EF 21 3 5758482G23 138A2565G6 ·o.4 1 
5758482G3 *CR9033B4C85CD 8.5 3 5758482G24 138A2565G7 33 1 
575S482G4 *CR9033B4C43CD 4.3 3 '575B482G25 138A2565G7 33 1 
5758482G5 *CR9033B4C28BC 2.8 2 5758482G26 138A2565G7 33 1 
5758482G6 *CR9033B4C22BC 2.2 2 5758482G27 138A2565G8 26 1 
5758482G7 *CR9033B4C18BC 1.8 2 5758482G28 138A2565G8 26 1 
5758482G8 138A2565Gl 1.2 2 5758482G29 138A2565G8 26 1 
5758482G9 138A2565G2 0.9 2 5758482G30 138A2565G9 21 1 
5758482Gl0 138A2565G2 0.9 2 5758482G31 138A2565G9 21 1 
5758482Gll 138A2565G2 0.9 2 5758482G32 138A2565G9 21 1 
5758482G12 138A2565G3 0.7 2 5758482G33 138A2565Gl0 16 1 
5758482Gl3 138A2565G3 0.7 2 5758482G34 138A2565Gl0 16 1 
5758482G14 138A2565G3 0.7 2 5758482G35 138A2565Gl0 16 1 
5758482G15 138A2565G4 0.55 2 5758482G36 138A2565Gll 13 1 
5758482G16 138A2565G4 0.55 2 5758482G37 138A2565Gll 13 1 
5758482G17 138A2565G4 0.55 2 5758482G38 138A2565Gll 13 1 
5758482G18 138A2565G5 0.47 1 5758482G39 138A2565Gl2 10 1 
5758482G19 138A2565G5 0.47 1 5758482G40 138A2565Gl2 10 1 
5758482G20 138A2565G5 0.47 1 5758482G41 138A2565G12 10 1 
5758482G21 138A2565G6 0.4 1 

NOTE: Replacement stock may be minimized by stocking unit boxe,s 5758482Gl, -G2, -G3, -G4, -G5, -G6, -G7, •GB, -Gll, 
.-G14, -G17, -G20, and -G23 only. Other bOxes can be made by reconnecting 5758482Gll, -G14, -G17, -G20, or -G23. 

EXAMPLE: 5758482G9 or -GlO can be made by reconnecting 5758482Gll. 

RESISTOR FRAME ASSEMBLY 

REF. NO. 
NO. Cat. No. REQ, Description 

5129071G4 1 Resistor frame assembly, complete 
2 131A3965Pl 2 End plate 

5907206P20 4 Tie rod 
3 194A6438P5 2 Insulation sleeve for tie rod, lower 
3A 194A6438P4 2 Insulation sleeve for tie rod, upper 
4 N213P29B6 16 Nut for tie rOd, 1/2 in. -13 hex. jam steel pro. fm. 
5 8047756 8 Washer for tie rod 

N405P45C3 8 Lock washer for tie rod, 1/2-in. steel pro. fin. 
5357791 8 Clamp for resistor unit 
218A6898Pl 16 Washer for resistor stud 
N405P42C3 8 Lock washer for resistor stud, 5/16-in. steel, pro. fin. 
N203P23B 8 Nut for resistor stud, 5/16-in. hex .. std., steel pro. fin. 

7 *8077971 8 Terminal support -
*N26P21008B 8 Screw fastening terminal support to resistor terminal, 1/4-in. -20, 1/2-in. hex. hd. slot 

*N402Pl1B 16 
steel, pro. fin. 

Washer for screw Cat. No. N26P21008B, 1/4-in. steel, pro. fin. 
*N405P41C3 8 Lock washer for screw Cat. No. N26P21008B, 1/4-in. steel, pro. fin. 
*N203P21B 8 Nut for screw Cat. No. N26P21008B, 1/4-in.· -20, hex. std. steel, pro. fin. 

9 8047180 8 Clamp for terminal support 
10 N26P21008B6 8 Screw fastening termin:il support, clamp, and terminal, 3/8-in. -16 1 1/2 hex. hd. slot 

threaded fulUength, steel, pro. fin, 
N405P43C3 16 Lock washer for screw Cat. No.N26P21008B6 , 3/8-in. steel, pro. fin. 
N402P43B6 8 Washer for screw Cat..No ... N26P21008B6, 3/8-in. steel, pro. fin. 
8047179 8 Pad for connection strap 
432249 8 Washer for connection strap 
N245P25B6 8 Nut for screw Cat. No. 278X89, 3/8-in. -16, hex. hd. steel, pro. fin. 

*Resistor unit box Cat. No. 5758482Gl through G7 connects resistor terminalto terminal support with hardware indicated by 
asterisk. All other groups are spot welded. 

2 



\ ·;,_ . ·~ .... 
' 

IC9133 UNIT BOX RESISTORS GEF-3838B 

~ 
-; ~ 

I 0.. ~ '"O co 
i:Q <lJ :..~i:o h,...., i:Q h ell h"' -ci 

...., 
<D ON co Cf.l 0 I <D ,...., <D "' "" <lJ h ,...., '-'u ...., i:Q 'H "'0 c: • i:Q 'H <D ,...., i:Q c: i:Q P< P< P< P< E-<...., 0 Cf.l"' Cf.l Lt'> ~ 1 0 ~i:Q 0 ~ <D ~ ,....,0 ~"' .9 00 "' Resistor 0..0 0..0 o..o o..o o.,0 bDCf.l Lt'> h 0.."1' c;; . "' Q) ~co <lJ"' 

·,-j Q) ....... 
<lJ "'--"' <lJ,...., "' Unit 

ell ,...., ell !:"- ell ,...., ell !:"-

"'~~ c: 0 "' ..s a i:i.. .s ~ P< :...~,...., h P< t) :i:: P< ~eC'\J h P< t) ,...., P< :..o k "1' i..o k "1' 
,...., .... "" •,-j ..µ P-i 

S-i ;3 :g a~ :i: 8 "' '-' o..P< '-'"' "1' <!>NO '-' 0.. P< '-'"' <lJ I "' ...., co .... "" .... co i::: ~~C\l Box ,...., Cf.l,...., tr.lo Cf.l,...., tr.lo ,...., """I:"- ....... 00 ctj ft:; Cf.lo T""I i:::M1'"""1 Cf.l ell~ Cf.lO §::.; g . c:,...., c:"' c:,...., c:"' .u"" Ba ..... "' ;!:U"1' S-i Q) i:.c C\J 
ci § E-< z k C: "1' ci §di~ § E-< z k C: "1' 

Cat. No. 0 0 Lt'> 0 Lt'> 0 in 0 I.{';) 0""""" C"\I ~ ell I z '"iii ..... z <lJ :...,...., z o 0 Z ooZ o'--~z z :d . :c . :c . :;; . z ell . rz.. G c ci ell ell f-< <.) I z ..... h . : :c 0 zU,...., . •.-1 S-i • 'H ..... ulf'>-ci . Cf.l .. 
S-i .µ 0 ...; al:;§ '-' 0 '-' 0 '-' 0 : . c: 0 Si: .s :;§ h c: 0 .... 0 0 . h~ 0 ...., 0 0 s.-i----o-io 

<!>Z <l>Z <lJ z ''H ..... z ~ .......... z 0 o.. ..... z ...; a3t)Z 1j a3 z 'H 0 ~ z a3 ti z ~ a3 z 0 ~ Cf.l z & §....; c: c: c: . 1

1

& a . <lJ ~ch....; .!:<I a . 'H a I & §'<ii....; Ul c: . <lJ 'H <lJ i::: ·~ • Ul c: . '4-t Q) • • c:....; c:....; c::: ..j-) S-i .µ <.> k-+-> ~s~~ ell c: .... 0::-+-> k .._; c: Ul ...., ell c: ...., .µ S-i ><: .µ 
0 ell 0 ell 0 ell Oell <!>ell :...,...'-._ell 0 <lJ ell 0 <lJ ell s:86 ;; '-' ell 0 <lJ ell ~86 ;; '-' <lJ ell 
uu uu uu UU E-<U ci5 aeu ...:lE-<U zueu uo::u Ztr.lU uo::u Ztr.l::t:U 

I 
Number Required 

5758482Gl 3 - - - - - - - 4 4 4 - - -
5758482G2 3 - - - - - - - 4 4 4 - - -
5758482G3 3 - - - - - - - 4 4 4 - - -
5758482G4 3 - - - - - - - 4 4 4 - - -
5758482G5 3 - - - - - - - 4 4 4 - - -
5758482G6 3 - - - - - - - 4 4 4 - - -
5758482G7 3 - - - - - - - 4 4 4 - - -
5758482G8 3 - - - - - - - - - - 4 4 4 
5758482G9 3 - - - 2 - - - - - - 4 4 4 
5758482Gl0 2 2 1 - 5 2 2 2 - - - 4 4 4 

5758482Gll 2 1 I 
3 1 1 1 4 4 4 - - - - -

5758482G12 3 - - - 2 - - - - - - 4 4 4 
5758482G13 2 2 1 - I 5 2 2 2 - - - 4 4 4 
5758482Gl4 - - 2 1 3 1 1 1 - - - 4 4 4 
5758482G15 3 - - - 2 - - - - - - 4 4 4 

5758482G16 2 2 1 I - I 5 2 2 2 - - - 4 4 4 
5758482Gl7 - - 2 1 3 1 1 1 - - - 4 4 4 
5758482Gl8 3 - - - I 2 - - - - - - 4 4 4 
5758482G19 2 2 1 - 5 2 2 2 - - - 4 4 4 
5758482G20 - - 2 1 3 1 1 1 - - - 4 4 4 

5758482G21 3 - - - I 2 - - - - - - 4 4 4 
5758482G22 2 2 1 - 5 2 2 2 -- - - 4 4 4 
5758482G23 - - 2 1 3 1 1 1 - - - 4 4 4 
5758482G24 3 - - - I 2 - - - - - - 4 4 4 
5758482G25 2 2 1 - 3 1 1 1 - - - 4 4 4 

5758482G26 - - 2 1 I 2 1 1 1 - - - 4 4 4 
5758482G27 3 - - - 2 - - - - - - 4 4 4 
5758482G28 2 2 1 - 3 1 1 1 - - - 4· 4 4 
5758482G29 - - 2 1 ' 2 1 1 1 - 4 4 4 I - -
5758482G30 3 - - - 2 - - - - - - 4 4 4 

5758482G31 2 2 1 - I 3 1 1 1 - - - 4 4 4 
5758482G32 - - 2 1 2 1 1 1 - - - 4 4 4 
5758482G33 3 - - - 2 - - - - - - 4 4 4 
5758482G34 2 2 1 - I 3 1 1 1 - - - 4 4 4 
5758482G35 - - 2 1 I 2 1 1 1 - - - 4 4 4 

5758482G36 3 - - - I 2 - - - - - - 4 4 4 
5758482G37 2 2 1 - 3 1 1 1 - - - 4 4 4 
5758482G38 - - 2 1 2 1 1 1 - - - 4 4 4 
5758482G39 3 - - - 2 - - - - - - 4 4 4 
5758482G40 2 2 1 - I 3 1 1 1 - - - 4 4 4 

5758482G41 - - 2 1 I 2 1 1 1 - - - 4 4 4 

3 



5-74 (2500) 

GENERAL ELECTRIC COMPANY 
INDUSTRIAL CONTROL PRODUCTS DEPARTMENT 

SALEM, VA. 24153 

GENERALfj ELECTRIC 

.... ·· 


